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Mcqs Multiple Choice Questions Level I

1.  is equal to :

A. 

B. 

C. 

∫2ex(cos x − sinx)dx

2ex cos x + c

2ex sinx + c

−2ex cos x + c

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_9Dtt75W7SfIC


D. 

Answer: A

Watch Video Solution

−2ex sinx + c

2.  is equal to :

Watch Video Solution

∫ dx
4

sin2 x cos2 x

3. Evaluate the following integrals: 

Watch Video Solution

∫ dx
x

√x + 1

https://dl.doubtnut.com/l/_9Dtt75W7SfIC
https://dl.doubtnut.com/l/_hI0xRJQpwwZh
https://dl.doubtnut.com/l/_j8PUAS5ZOZIw


4. Evaluate the following integrals: 

Watch Video Solution

∫ dx
cos x − cos2 x

1 − cos x

5. Evaluate the following integrals. 

Watch Video Solution

∫(√x − )

2

dx
1

√x

6. Evaluate the following integrals. 

Watch Video Solution

∫sinx√1 − cos 2xdx

https://dl.doubtnut.com/l/_RYZeK4DvXb22
https://dl.doubtnut.com/l/_HuQaJ7xM0cSz
https://dl.doubtnut.com/l/_hOC03X7wicik
https://dl.doubtnut.com/l/_WBR59cqbvGGX


7. Evaluate the following integrals. 

Watch Video Solution

∫ dx
sinx + cos x

√1 + sin 2x

8. is equal to:

A. 

B. 

C. 

D. .

Answer: D

Watch Video Solution

∫ dx
x3

x + 1

x + + − log|1 − x| + c
x2

2

x3

3

x + − − log|1 − x| + c
x2

2

x3

3

x − − − log|1 + x| + c
x2

2

x3

3

x − + − log|1 + x| + c
x2

2

x3

3

9. ∫ dx
x + sinx

1 + cos x

https://dl.doubtnut.com/l/_WBR59cqbvGGX
https://dl.doubtnut.com/l/_dBrRTM0GDt1J
https://dl.doubtnut.com/l/_QZYxbYoxvgIi


A. 

B. 

C. 

D. .

Answer: D

Watch Video Solution

log|1 + cos x| + c

log|x + sinx| + c

x − tan. + c
x

2

x tan. + c
x

2

10. ,then :

A. 

B. 

C. 

D. 

∫ dx = a(1 + x2)
3 / 2

+ b√1 + x2 + c
x3

√1 + x2

a = , b = 1
1

3

a = − , b = 1
1

3

a = − , b = − 1
1

3

a = , b = − 1
1

3

https://dl.doubtnut.com/l/_QZYxbYoxvgIi
https://dl.doubtnut.com/l/_BopvzWS91uD8


Answer: D

Watch Video Solution

11.  equals :

A. 

B. 

C. 

D. None of these.

Answer: A

Watch Video Solution

∫2xx(1 + logx)dx

2xx + c

2xx logx + c

2ex
x

+ c

https://dl.doubtnut.com/l/_BopvzWS91uD8
https://dl.doubtnut.com/l/_5Gq9OPvloGbA


12.  equals :

A. 

B. 

C. 

D. None of these.

Answer: C

Watch Video Solution

∫
dx

x1 / 5(1 + x4 / 5)
1 / 2

√1 + x4 / 5 + c

x (1 +4 / 5 )
1 / 2

+ c
4
5

√1 + x4 / 5 + c
5

2

13. If 


(b) 
(c) 
(d0 

A. 

∫ dx = a log
∣
∣
∣

∣
∣
∣

+ b, thenaisequal
1

x√1 − x3

√1 − x3 − 1

√1 − x3 + 1
1

3

2

3
−

1

3
−

2

3

−
2

3

https://dl.doubtnut.com/l/_1F5EZHlxH0Ei
https://dl.doubtnut.com/l/_HdhXYeqnIrwz


B. 

C. 

D. 

Answer: C

Watch Video Solution

−
1

3

1

3

2

3

14.  is equal to

A. 

B. 

C. 

D. None of these.

Answer: A

∫ esin x cos xdx
sinx − cos x

√−sin 2x

esin x + c

esin x+ cos x + c

esin x− cos x + c

https://dl.doubtnut.com/l/_HdhXYeqnIrwz
https://dl.doubtnut.com/l/_TuI7ASKyDS9n


Watch Video Solution

15.  equals :

A. 

B. 

C. 

D. None of these.

Answer: C

Watch Video Solution

∫777x

. 77x .7xdx

+ c
77x

(log 7)3

777x

(log 7)3 + c

+ c
777x

(log 7)3

16. If  means log log log ….x (log being repeated r times ) ,

then  equals :

lr(x)

∫[xl(x)l2(x)l3(x)…. . lr(x)]
− 1

dx

https://dl.doubtnut.com/l/_TuI7ASKyDS9n
https://dl.doubtnut.com/l/_yd6VzGf8b4s2
https://dl.doubtnut.com/l/_fAwxwrAkzjr9


A. 

B. 

C. 

D. None of these.

Answer: B

Watch Video Solution

lr(x) + c

lr+ 1(x) + c

+ c
lr+ 1(x)

r + 1

17. Evaluate the following Integral:

Watch Video Solution

∫ dx
cos2 x

1 + sinx

https://dl.doubtnut.com/l/_fAwxwrAkzjr9
https://dl.doubtnut.com/l/_DAX6O4KWta9L


18. If ,then

f(x)equals :

A. 

B. 

C. 

D. None of these.

Answer: B

Watch Video Solution

∫ dx = tan− 1(f(x)) + c
1

4 − 3 cos2 x + 5 sin2 x

1

3

2 tanx

3 tanx

√2 tanx

19. If ,then

f(x) equals :

A. 

∫ dx = − tan− 1( ) + c
sinx

sin2 x + 4 cos2 x

1

√3

√3

f(x)

sinx

https://dl.doubtnut.com/l/_zhRLLNB2gNa9
https://dl.doubtnut.com/l/_bBjWSbRsb0dJ


B. 

C. 

D. .

Answer: B

Watch Video Solution

cos x

tanx

secx

20.  equals :

A. 

B. 

C. 

D. None of these.

Answer: D

∫ dx
cos 4x − 1

cot x − tanx

− cos 4x + c
1

4

− cos 4x + c
1

2

− sin 2x + c
1

2

https://dl.doubtnut.com/l/_bBjWSbRsb0dJ
https://dl.doubtnut.com/l/_GDit9tEFSQWv


Watch Video Solution

21. 

A. 

B. 

C. .

D. None of these.

Answer: B

Watch Video Solution

∫ dx
sinx

sin 4x

log
∣
∣
∣

∣
∣
∣

− log
∣
∣
∣

∣
∣
∣

+ c
1

8

cos x − 1

cos x + 1

1

2√2

√2 cos x − 1

√2 cos x + 1

log
∣
∣
∣

∣
∣
∣

− log
∣
∣
∣

∣
∣
∣

+ c
1

8

sinx − 1

sinx + 1

1

4√2

√2 sinx − 1

√2 sinx + 1

log
∣
∣
∣

∣
∣
∣

− log
∣
∣
∣

∣
∣
∣

+ c
1

4

sinx − 1

sinx + 1

1

√2

√2 sinx − 1

√2 sinx + 1

22. If , then :

A. 

∫ dx = f(x) − log|g(x)| + c
1

(ex − 1)
2

Df = R

https://dl.doubtnut.com/l/_GDit9tEFSQWv
https://dl.doubtnut.com/l/_GhFsy9wkmYqG
https://dl.doubtnut.com/l/_R6HHU7yIbmUI


B. 

C. 

D. .

Answer: B

View Text Solution

Df = R − {0}

f(x) = 1 − e−x

g(x) = 1 − ex

23. 

A. 

B. 

C. 

D. .

Answer: C

∫ dx =
sin8 x − cos8 x

1 − 2 sin2 x cos2 x

sin 2x + c

−sin 2x + c

− sin 2x + c
1

2

− cos 4x + c
1

2

https://dl.doubtnut.com/l/_R6HHU7yIbmUI
https://dl.doubtnut.com/l/_KW248TdlP3Ms


Watch Video Solution

24. If , then :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫x6 sin(5x7)dx = cos(5x7), x ≠ 0
k

5

k = 7

k = − 7

k =
1

7

k =
−1

7

25.  equals

A. 

∫ dx
sin 2x

2 cos2 x + 3 sin2
x

log(2 + sinx) + C

https://dl.doubtnut.com/l/_KW248TdlP3Ms
https://dl.doubtnut.com/l/_Z2Dn7pJZDWSq
https://dl.doubtnut.com/l/_OauLEKEdIGTb


B. 

C. 

D. 

Answer: C

Watch Video Solution

log(2 + cos2 x) + C

log(2 + sin2 x) + C

log(2 + cos x) + C

26. 

A. 

B. 

C. 

D. None of these.

Answer: A

∫ dx = ?
(x + 1)ex

cos2(xex)

tan(xex)

√tan(xex)

tan− 1(xex)

https://dl.doubtnut.com/l/_OauLEKEdIGTb
https://dl.doubtnut.com/l/_A0AbTOwYpt6Q


Watch Video Solution

27.  is equal to

A. 

B. 

C. 

D. None of these.

Answer: D

Watch Video Solution

∫ dx
cos 4x − 1

cot x − tanx

− cos 4x + c
1

2

− cos 4x + c
1

4

− sin 2x + c
1

2

28. If , then f(x) is equal to:

A. 

∫ dx = log[f(x)]2 + c
1

f(x)

2x + α

https://dl.doubtnut.com/l/_A0AbTOwYpt6Q
https://dl.doubtnut.com/l/_hBG0sKKAxdyd
https://dl.doubtnut.com/l/_qbj9p99hDfax


B. 

C. 

D. .

Answer: B

Watch Video Solution

+ α
x

2

x + α

x2 + α

29. Evaluate:


A. 

B. 

C. 

D. 

Answer: A

∫ dx
cot x

√sinx

−2

√sinx

+ c
2

√sinx

2√sinx + c

+ c
1

2√sinx

https://dl.doubtnut.com/l/_qbj9p99hDfax
https://dl.doubtnut.com/l/_0aDtv6vrexH4


Watch Video Solution

30. Evaluate:


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫
dx

9 + 16 sin2 x

tan− 1( )
1

3

3 tanx

5

tan− 1( )
1

5

tanx

15

tan− 1( )
1

15

tanx

5

tan− 1( )
1

15

5 tanx

3

31.  is :

A. 

∫ dx
a√x

2√x

a√x loge a

https://dl.doubtnut.com/l/_0aDtv6vrexH4
https://dl.doubtnut.com/l/_DLjzbMEQkNB8
https://dl.doubtnut.com/l/_K95EBeT4ir1R


B. 

C. 

D. 

Answer: B

Watch Video Solution

a√x loga e

a√x log10 a

a√x loga 10

32.  is :

A. 

B. 

C. 

D. 

Answer: C

∫ dx
sin 2x

1 + sin2 x

tan− 1(sinx) + c

tan− 1(cos x) + c

loge(1 + sin2 x) + c

loge(sin2 x + x) + c

https://dl.doubtnut.com/l/_K95EBeT4ir1R
https://dl.doubtnut.com/l/_JCqoRozXXYaT


Watch Video Solution

33.  is :

A. 

B. 

C. 

D. .

Answer: A

Watch Video Solution

∫
dx

√2ax − x2

sin− 1( )
x − a

a

tan− 1( )
x − a

a

cos − 1( )
x − a

a

tan− 1( )
1

a

x − a

a

34.  is :

A. 

∫ dx
dx

1 + 3 sin2
x

tan− 1(3 tan2 x)
1

3

https://dl.doubtnut.com/l/_JCqoRozXXYaT
https://dl.doubtnut.com/l/_1FG02Imm32UH
https://dl.doubtnut.com/l/_dxsOGWr0QWAe


B. 

C. 

D. None of these.

Answer: B

Watch Video Solution

tan− 1(2 tanx)
1

2

tan− 1(tanx)

35.  is :

A. 

B. 

C. 

D. .

Answer: D

∫x logxdx

logx + logx − + c
x2

2
x

4
x2

4

logx − logx − + c
x2

2
x

4
x2

4

logx − logx + + c
x2

2
x

4
x2

4

logx − + c
x2

2
x2

4

https://dl.doubtnut.com/l/_dxsOGWr0QWAe
https://dl.doubtnut.com/l/_zlLPPvDFyy5L


Watch Video Solution

36.  will be given by :

A. 

B. 

C. 

D. .

Answer: B

Watch Video Solution

∫ dx
sinx + cos x

√1 + sin 2x

log(sinx + cos x) + c

x + c

logx + c

log sin(cos x) + c

37.  is equal to :

A. 

∫ logxdx

x log( )
e

x

https://dl.doubtnut.com/l/_zlLPPvDFyy5L
https://dl.doubtnut.com/l/_85E2rPj4rKQ9
https://dl.doubtnut.com/l/_Xufhj2dGLoSB


B. 

C. 

D.  .

Answer: B

Watch Video Solution

x log( )
x

e

x logx

logx

x

38.  is equal to :

A. 

B. 

C. 

D. .

Answer: A

∫x3ex
2
dx

ex
2
(x2 − 1)

1

2

x2(ex
2

− 1)

x2(ex
2

− 1)
1

2

(ex
2

− 1)
1

2

https://dl.doubtnut.com/l/_Xufhj2dGLoSB
https://dl.doubtnut.com/l/_KWPKwY6UUmAA


Watch Video Solution

39.  is :

A. 

B. 

C. 

D. None of these.

Answer: B

Watch Video Solution

∫ dx
dx

x2 + x + 1

tan− 1( ) + c
√3

2

2x + 1

√3

tan− 1( ) + c
2

√3

2x + 1

√3

tan− 1( ) + c
1

√3

2x + 1

√3

40.  dx is equal to :

A. 

∫(x − 1)e−x

xe−x + c

https://dl.doubtnut.com/l/_KWPKwY6UUmAA
https://dl.doubtnut.com/l/_vLXVknNjxEMh
https://dl.doubtnut.com/l/_iRdbU4picvYd


B. 

C. 

D. .

Answer: B

Watch Video Solution

−xe−x + c

xex + c

−xex + c

41.  dx equals :

A. 

B. 

C. 

D. .

Answer: A

∫(1 − cot x)cos ec2x

tan. + c
x

2

cot. + c
x

2

tan. + c
1

2
x

2

2 tan. + c
x

2

https://dl.doubtnut.com/l/_iRdbU4picvYd
https://dl.doubtnut.com/l/_YvdSymdqWGpL


Watch Video Solution

42.  equals :

A. 

B. 

C. 

D. .

Answer: C

Watch Video Solution

∫ dx
√x

1 + x

log( ) + c
1 + √x

√x

log( ) + c
√x

1 + x

2√x − 2 tan− 1
√x + c

2√x − tan− 1
√x + c

43. If , then f(x) is :

A. x

f(x)cos xdx = f 2(x) + c
1

2

https://dl.doubtnut.com/l/_YvdSymdqWGpL
https://dl.doubtnut.com/l/_FiFCK0j9MxGl
https://dl.doubtnut.com/l/_oEsmR9Vq0uDA


B. 

C. 

D. 1

Answer: B

Watch Video Solution

sinx

cos x

44.  is :

A. 

B. 

C. 

D. None of these.

Answer: C

∫ dx
(x − x3)

1 / 3

x4

(1 − )
4 / 3

+ 1 + c
1

8

1

x2

( − 1)
4 / 3

+ c
3

8

1

x2

( − 1)
4 / 3

+ c
−3

8

1

x2

https://dl.doubtnut.com/l/_oEsmR9Vq0uDA
https://dl.doubtnut.com/l/_K7BILYRbtgIF


Watch Video Solution

45.  is equal to :

A. 

B. 

C. 

D. None of these.

Answer: C

Watch Video Solution

∫e3 logx(x4 + 1)
− 1

dx

log(x4 + 1) + c

log(x4 + 1) + c

log(x4 + 1) + c
1

4

46. Find .∫ dx
(x4 − 1)

1
4

x5

https://dl.doubtnut.com/l/_K7BILYRbtgIF
https://dl.doubtnut.com/l/_4nVUgceLIxI9
https://dl.doubtnut.com/l/_FNi0uuqunGgI


A. 

B. 

C. 

D. None of these.

Answer: B

Watch Video Solution

(1 + )
5 / 4

+ c
4
15

1

x3

(1 − )
5 / 4

+ c
4
15

1

x3

− (1 − )
5 / 4

+ c
4
15

1

x3

47.  is equal to :

A. 

B. 

C. 

D. None of these.

∫
dx

x(xn + 1)

log( ) + c
1

n

xn

xn + 1

log( ) + c
1

n

xn + 1
xn

log( ) + c
xn

xn + 1

https://dl.doubtnut.com/l/_FNi0uuqunGgI
https://dl.doubtnut.com/l/_d5n3A0sHsKII


Answer: A

Watch Video Solution

48. If  , then

value of (A,B) is :

A. 

B. 

C. 

D. .

Answer: B

Watch Video Solution

∫ dx = Ax + B log sin(x − α) + C
sinx

sin(x − α)

(sinα, cosα)

(cosα, sinα)

( − sinα, cosα)

( − cosα, sinα)

https://dl.doubtnut.com/l/_d5n3A0sHsKII
https://dl.doubtnut.com/l/_6Hn6zt8U9L9n


49.  is equal to :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∫
dx

cos x − sinx

log∣
∣tan( − )∣

∣ + c
1

√2

x

2
π

8

log∣
∣cot( )∣

∣ + c
1

√2

x

2

log
∣
∣
∣
tan( − )

∣
∣
∣

+ c
1

√2

x

2
3π

8

log
∣
∣
∣
tan( + )

∣
∣
∣

+ c
1

√2

x

2
3π

8

50.  equals :

A. 

B. 

∫
dx

cos x + √3 sinx

log tan( − ) + C
1
2

x

2
π

12

log tan( + ) + C
x

2
π

12

https://dl.doubtnut.com/l/_DN3Xht3QQbJG
https://dl.doubtnut.com/l/_Z7Sx3Ifgrpq8


Mcqs Multiple Choice Questions Level Ii

C. 

D. .

Answer: D

Watch Video Solution

log tan( − ) + C
x

2

π

12

log tan( + ) + C
1

2
x

2

π

12

1.  is equal to ___________.

A. 

B. 

C. 

D. .

∫ dx
1

x2(x4 + 1)3 / 4

(1 + )
1 / 4

+ c
1

x4

(x4 + 1)
1 / 4

+ c

(1 − )
1 / 4

+ c
1

x4

−(1 + )
1 / 4

+ c
1

x4

https://dl.doubtnut.com/l/_Z7Sx3Ifgrpq8
https://dl.doubtnut.com/l/_ISs7zX4jONEU


Answer: D

Watch Video Solution

2. Integral of  w.r.t  is :

A. 

B. 

C. 

D. None of these.

Answer: A

Watch Video Solution

f(x) = √1 + x2 x2

(1 + x2)
3 / 2

+ c
2

3

+ c
2

3

(1 + x2)
3 / 2

x

x(1 + x2)
3 / 2

+ c
2

3

https://dl.doubtnut.com/l/_ISs7zX4jONEU
https://dl.doubtnut.com/l/_fvogs716vfvP


3. Find the value of .

A. 

B. 

C. 

D. None of these.

Answer: B

Watch Video Solution

∫
d(x2 + 1)

√(x2 + 2)

√x2 + 2 + c

2√x2 + 2 + c

+ c
1

(x2 + 2)3 / 2

4. Let 

,Then f(1) is :

A. 

f(x) = ∫ dx and f(0) = 0
x2

(1 + x2)(1 + √1 + x2)

log(1 + √2)

https://dl.doubtnut.com/l/_xk71zJLNupSD
https://dl.doubtnut.com/l/_GDrbYRDQldBd


B. 

C. 

D. None of these.

Answer: C

Watch Video Solution

log(1 + √2) +
π

4

log(1 + √2) −
π

4

5.  equals :

A. 

B. 

C. 

D. None of these.

Answer: B

∫etan − 1x( )dx
1 + x + x2

1 + x2

etan − 1 x + c
1

x

xetan − 1 x + c

x2etan − 1 x + c

https://dl.doubtnut.com/l/_GDrbYRDQldBd
https://dl.doubtnut.com/l/_gJgGg8U37q1g


Watch Video Solution

6. If ,

then :

A. 

B. 

C. 

D. .

Answer: B::C

Watch Video Solution

∫ dx = a tan− 1. x + b tan− 1. + c
1

(x2 + 1)(x2 + 4)

x

2

a = −
1

3

b = −
1

6

a =
1

3

b =
2

3

7. If , then:∫√1 + secxdx = k sin− 1(f(x)) + c

https://dl.doubtnut.com/l/_gJgGg8U37q1g
https://dl.doubtnut.com/l/_oBVV3qKFRlN7
https://dl.doubtnut.com/l/_8gBbCiz0TRHO


A. 

B. 

C. 

D. .

Answer: A

Watch Video Solution

f(x) = √2 sin( ), k = 2
x

2

f(x) = √2 cos( ), k = 2
x

2

f(x) = √2 sin( ), k = √2
x

2

f(x) = √2 tan( ), k = 2
x

2

8. If , then equals : 

, where

:

A. 

B. 

f(x) =
x + 2

2x + 3
∫√ dx

f(x)

x2

g( ) − √ h( ) + c
1

√2

1 + √2f(x)

1 − √2f(x)

2

3

√3f(x) + √2

√3f(x) − √2

g(x) = log|x|, h(x) = tan− 1 x

g(x) = h(x) = tan− 1

https://dl.doubtnut.com/l/_8gBbCiz0TRHO
https://dl.doubtnut.com/l/_et0EKkoAdU8K


C. 

D. .

Answer: D

View Text Solution

g(x) = tan− 1 x, h(x) = log|x|

g(x) = log|x|, h(x) = log|x|

9. ,

then :

A. 

B. 

C. 

D. .

Answer: C

∫sin− 3 / 2 x sin− 1 / 2(x + α)dx = − 2 cos ecα√f(x) + c

f(x) = tan(x + α)

f(x) =
sinx

sin(x + α)

f(x) =
sin(x + α)

sinx

f(x) =
tan(x + α)

tanx

https://dl.doubtnut.com/l/_et0EKkoAdU8K
https://dl.doubtnut.com/l/_u0Qrk5gaToGF


View Text Solution

10. If , then f(x)equals :

A. 

B. 

C. 

D. .

Answer: B

Watch Video Solution

∫ dx = 2f(x)3 / 2 + c
√1 + 3√x

x2 / 3

1 − x1 / 3

1 + x1 / 3

1 + x2 / 3

1 − x2 / 3

11. 

A. 

∫etan − 1 x( )dx
1 + x + x2

1 + x2

+ c
etan − 1 x

1 + x2

https://dl.doubtnut.com/l/_u0Qrk5gaToGF
https://dl.doubtnut.com/l/_hHyBMy6KqcY8
https://dl.doubtnut.com/l/_TWWriddo1ckU


B. 

C. 

D. .

Answer: B

Watch Video Solution

xetan − 1 x + c

x + c
tan− 1

1 + x2

x2 + c
tan− 1

1 + x2

12.  is equal to

A. 

B. 

C. 

D. .

Answer: B

∫(√tanx + √cot x)dx

√2 tan− 1( )
tanx

√2 tanx

√2 tan− 1( )
tanx − 1

√2 tanx

tan− 1( )
tanx

√2

cot x + 1

√2 tanx

tan− 1( )
tanx

√2

cot x − 1

√2 cot x

https://dl.doubtnut.com/l/_TWWriddo1ckU
https://dl.doubtnut.com/l/_WoN7fD50OhbK


Watch Video Solution

13. , then k =

A. 

B. 

C. 

D. .

Answer: D

Watch Video Solution

∫ dx = k sin− 1 2x + c
2x

√1 − 4x

log 2

1
2

log 2
1
2

1

log 2

14.  is equal to :

A. 

∫x2ex
3

dx

ex sin(ex
3

)

https://dl.doubtnut.com/l/_WoN7fD50OhbK
https://dl.doubtnut.com/l/_w0rrfCQNBcNs
https://dl.doubtnut.com/l/_uMemJqV4roYb


B. 

C. 

D. .

Answer: B

Watch Video Solution

sin(ex
3
)

1

3

sin(ex
3
)

3 sin(ex
3
)

15.  is equal to :

A. 

B. 

C. 

D. 

Answer: B

∫ee
ex

ee
x

dx

ee
ex1

2

ee
ex

ee
x1

2

(ee
ex

)
2

https://dl.doubtnut.com/l/_uMemJqV4roYb
https://dl.doubtnut.com/l/_GhLK9OyyHkAA


Watch Video Solution

16.  dx is equal to

A. 

B. 

C. 

D. .

Answer: C

Watch Video Solution

∫{ }

2
logx − 1

1 + (logx)
2

+ c
x

x2 + 1

+ c
logx

(logx)
2

+ 1

+ c
x

(logx)2 + 1

+ c
xex

1 + x2

17. The value of  is :√2∫ dx
sinx

sin(x − )π
4

https://dl.doubtnut.com/l/_GhLK9OyyHkAA
https://dl.doubtnut.com/l/_Nr5wORRB0kee
https://dl.doubtnut.com/l/_ZjTCFmIQi2Ub


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x − log∣
∣cos(x − )∣

∣ + c
π

4

x + log∣
∣cos(x − )∣

∣ + c
π

4

x − log∣
∣sin(x − )∣

∣ + c
π

4

x + log∣
∣sin(x − )∣

∣ + c
π

4

18.  is equal to :

A. 

B. 

C. 

D. .

∫ dx
(x2 − 1)x

x4√2x4 − 2x2 + 1

+ c
√2x4 − 2x2 + 1

x2

+ c
√2x4 − 2x2 + 1

2x2

+ c
√2x4 − 2x2 + 1

x

+ c
√2x4 − 2x2 + 1

2x2

https://dl.doubtnut.com/l/_ZjTCFmIQi2Ub
https://dl.doubtnut.com/l/_ws8cCFLw4Z0E


Answer: D

Watch Video Solution

19. Let  for  and 

.

Then  equals .

A. 

B. 

C. 

D. .

Answer: A

Watch Video Solution

f(x) =
x

(1 + xn)
1
n

n ≥ 2

g(x) = (fofo……………………..of)
x

 f occurs n times

xn− 2g(x)dx

(1 + nxn)1 − + k
1

n(n − 1)

1
n

(1 + nxn)1 − + k
1

n − 1

1
n

(1 + nxn)1 + + k
1

n(n + 1)

1
n

(1 + nxn)1 + + k
1

n + 1

1
n

https://dl.doubtnut.com/l/_ws8cCFLw4Z0E
https://dl.doubtnut.com/l/_6k293TRj4p3J
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20. Let .

Then , for an arbitrary constant c, the value of J-1 euqals :

A. 

B. 

C. 

D. .

Answer: C

Watch Video Solution

I = ∫ dx, J = ∫ dx
ex

e4x + e2x + 1

e−x

e− 4x + e− 2x + 1

log( ) + c
1

2
e4x − e2x + 1

e4x+ex + 1

log( ) + c
1

2

e2x + ex + 1

e2x − ex + 1

log( ) + c
1

2

e2x − ex + 1

e2x + ex + 1

log( ) + c
1

2
e4x + e2x + 1

e4x − e2x + 1

https://dl.doubtnut.com/l/_b3Tv6Oq092Jn


1. If the integral ,

then a is equal to :

A. 

B. 

C. 

D. .

Answer: D

Watch Video Solution

∫ dx = x + aln|sinx − 2 cos x| + k
5 tanx

tanx − 2

−1

−2

1

2

2. The integral  equals : (for some

arbitrary constant k)

A. 

∫ dx
sec2 x

(secx + tanx)9 / 2

− { − (secx + tanx)2} + k
1

(secx + tanx)
11
2

1

11

1

7

https://dl.doubtnut.com/l/_4vwx0h4QRPI7
https://dl.doubtnut.com/l/_dXW6FqRBXqw7


B. 

C. .

D. .

Answer: D

Watch Video Solution

{ − (secx + tanx)2} + k
1

(secx + tanx)11 / 2

1

11

1

7

− { − (secx + tanx)2} + k
1

(secx + tanx)11 / 2

1

11

1

7

− { + (secx + tanx)2} + k
1

(secx + tanx)
11 / 2

1

11

1

7

3. Evaluate : .

Watch Video Solution

∫{ } dx
sinn x

cosn+ 6 x

1
3

4. The integral  is equal to :

A. 

∫(1 + x − )ex+ dx
1

x

1
x

xex+ + c
1
x

https://dl.doubtnut.com/l/_dXW6FqRBXqw7
https://dl.doubtnut.com/l/_IezY53xPJBXJ
https://dl.doubtnut.com/l/_Ps9HmKphHbua


B. 

C. 

D. .

Answer: A

Watch Video Solution

(x + 1)ex+ + c
1
x

−xex+ + c
1
x

(x − 1)ex+ + c
1
x

5. The integral  equal

A. 

B. 

C. 

D. .

Answer: D

∫
dx

x2(x4 + 1)
3 / 4

( )
1 / 4

+ c
x4 + 1

x4

(x4 + 1)
1 / 4

+ c

−(x4 + 1)
1 / 4

+ c

−( )
1 / 4

+ c
x4 + 1

x4

https://dl.doubtnut.com/l/_Ps9HmKphHbua
https://dl.doubtnut.com/l/_7gvJgpw7Sm2P
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Comed

Watch Video Solution

1. If , where

C is a costant of integration, then f(x)=

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

∫f(x)sinx cos xdx =
1

2(b2 − a2)
⋅ (logf(x)) + C

2

(b2 − a2)sin 2x

2

ab sin 2x

2

(b2 − a2)cos 2x

1

(b2 cos2 x + sin2 xa2)

https://dl.doubtnut.com/l/_7gvJgpw7Sm2P
https://dl.doubtnut.com/l/_YNaVbs9cOOae


2. 

A. 

B. 

C. 

D. None of these.

Answer: C

Watch Video Solution

dx =
sin− 1 x

√1 + x

2√1 + x sin− 1 x + 2√1 − x + C

2√1 + x(sin− 1 x + 2) + C

2√1 + x sin− 1 x + 4√1 − x + C

3.  is :

A. 

B. 

∫ dx, n ≠ 0
cosn− 1 x

sinn+ 1 x

+ C
cotn x
n

− + C
cotn− 1 x

n − 1

https://dl.doubtnut.com/l/_iaHKuT26e5Hv
https://dl.doubtnut.com/l/_cT6JtO1e3rhF


C. 

D. .

Answer: C

Watch Video Solution

− − C
cotn x
n

+ C
cotn− 1 x

n − 1

4. If linear function  and  satisfy 

, then

A. 

B. 

C. 

D. .

f(x) g(x)

∫ [(3x − 1)cos x + (1 − 2x)sinx]dx = f(x)cos x + g(x)sinx + C

f(x) = 3x − 5

g(x) = 3 + x

f(x) = 3(x − 1)

g(x) = 3(x − 1)

https://dl.doubtnut.com/l/_cT6JtO1e3rhF
https://dl.doubtnut.com/l/_En2c3Vbo5KOn


Answer: D

Watch Video Solution

5. 
 (i) 
 (ii)


 (iii) 
 (iv)

A. 

B. 

C. 

D. .

Answer: D

Watch Video Solution

∫    dx
sin 2x

sin2 x + 2 cos2 x
−log(1 + sin2 x) + C

log(1 + cos2 x) + C −log(1 + cos2 x) + C

log(1 + tan2 x) + C

log(1 + cos2 x) + C

log(1 + tan2 x) + C

−log(1 + sin2 x) + C

−log(1 + cos2 x) + C

https://dl.doubtnut.com/l/_En2c3Vbo5KOn
https://dl.doubtnut.com/l/_rzmcas3aO1D7


6.  is equal to

A. 

B. 

C. 

D. .

Answer: C

Watch Video Solution

∫ex dx
1 + sinx cos x

cos2 x

ex cos x + C

ex secx tanx + C

ex tanx + C

ex cos2 − 1 + C

7. 

A. 

B. 

∫ dx =
x2 + 1

x4 + 1

loge(x
2) + C

1

√2

− tan− 1( ) + C
1

√2

x2 − 1

x√2

https://dl.doubtnut.com/l/_cDApf5rl8CLI
https://dl.doubtnut.com/l/_TjS0i3wRKfQP


C. 

D. .

Answer: D

Watch Video Solution

− tan− 1(x2 − 1) + C
1

√2

tan− 1( ) + C
1

√2

x2 − 1

x√2

8.  is equal to

A. 

B. 

C. 

D. .

Answer: A

W t h Vid S l ti

∫ dx
1

x2(x4 + 1)3 / 4

+ C
−(1 + x4)

1 / 4

x

+ C
−(1 + x4)

1 / 4

x

−(1 + x4)
1 / 4

+ C
)

2x

+ C
−(1 + x4)

3 / 4

x

https://dl.doubtnut.com/l/_TjS0i3wRKfQP
https://dl.doubtnut.com/l/_Q4ovYtP3CZiO


Watch Video Solution

9.  dx is equal to

A. 

B. 

C. 

D. .

Answer: B

Watch Video Solution

∫
sin2 x

1 + cos x

x + sinx + C

x − sinx + C

sinx + C

cos x + C

10. 

A. 

∫ex( )dx
1 + sinx

1 + cos x

ex tan. + C
x

2

https://dl.doubtnut.com/l/_Q4ovYtP3CZiO
https://dl.doubtnut.com/l/_z6o2GVmbUUIG
https://dl.doubtnut.com/l/_Cgk3FVQK5Aet


B. 

C. 

D. .

Answer: A

Watch Video Solution

tan. + C
x

2

ex + C

ex sinx + C

11. 

A. 

B. 

C. 

D. .

Answer: B

∫ dx =
x3 − 1

x3 + x

x − logx + log(x2 + 1) − tan− 1 x + c

x − logx + log(x2 + 1) − tan− 1 x + c
1

2

x + logx + log(x2 + 1) − tan− 1 x + c

x + logx + log(x2 + 1) − tan− 1 x + c
1

2

https://dl.doubtnut.com/l/_Cgk3FVQK5Aet
https://dl.doubtnut.com/l/_Zt0rVvyqgEW1


Watch Video Solution

12. In the integral 

, where k is an arbitrary

constant,then A is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

∫ dx = A cos 8x + k
cos 8x + 1

cot 2x − tan 2x

−
1

16

1

8

1

16

−
1

8

https://dl.doubtnut.com/l/_Zt0rVvyqgEW1
https://dl.doubtnut.com/l/_QDGHcownudAI

